[EEY

Ratio to ATLAS

13000 GeV pp tt

| | I I I | I I I | 9
B 15
- A R (extra, leading jet) (ATLAS ttbar) 13
= ==
- m ATLAS SN
. --©-- Pythia 6.428 390 N
— --8-- Pythia 6.428 391 13

- -+ Pythia 6.428 392 5
-+ -- Pythia 6.428 396 35
. 1>
--2-- Pythia 6.428 397 1
--¥-- Pythia 6.428 398 7
- S
- AR b
F ¥ S
o - \ _
—/’f;/’i .x O‘_r|)
= W N EL
— /z’;’/ﬂ :\\\\ ..
N 7 §\\\ _8
- % — 8
I 1w,
= Ele
— — 8
| | | | | | | | | | | | 1E
:l T T T | T T T | T T T |:
— —2
Z,_ ]
EE 1
L —0.5
| 1 1 1 | 1 1 1 | 1 1 1 |
0 2 4 6
A Rextral

jetl



	Contents
	Page 1


